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4.

An agreement which is impoc: form i
i pos to orm 18 .
(a;AI)R 1"\31,;;(1! (B) Void :llbbil:itio‘(’C) Voidable (D) Non€ of thes
I A JrE 8 g
D) wHaFETE

(A) Rftm= (B). wwdym (C) TR

What do you mean by ‘Quantum Merit’ ?
(A) Breach of contract ) As much as earned

(C) Damages (D) Restitution
Fatog AR’ Q AR RTATI R ?

(A) dfagr 9 B) TurEra #fid

(C) &@fd (D), ST

&?ngirﬂzg Lost G(();c)l lsBaailor (Cy: True Owner (D) Thief

| @mmmﬁmg@ e (C) Irafas w@mft (D) =R

(A) SHHGER (B)

_ s not apply to
Congmlggr Protection Act doe ((g; guoblic Sector Bank
S Mamuscwrer  wemage
iR G S (B) wfers dwey &=
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10.

11.

12.

The Voluntary transfer of Possession frgm One

g Chagtgfresg? }t)(()) ::e(;tslzgr I8 calleq
(C)w%e;lrl%ery 5 NV yaTgTB)ﬁ None of ¢ these "
Th X

R s BY Fa T
(C) gg&h D) wiig #ré T

An obligation arises from

(A) A contract (B) Froma wrongful act
(C) Both (A) and (B) (D) None of these
qreaan I BN 2 |

(A) TF+R (B) aifoes wrd

(C) (A) T (B) 2N (D) ¥ & = 7t

NEFT was launched by R.B.I. in

(A) Nov.2005 (B)vNov.2006 (C) Nov. 2004 (D) Nov. 2007
Fr.&#.3me. gm H TSRS T Yad e |

(A) =R 2005 (B) A9 2006 (C) TawR 2004 (D) Faw=w 2007

The Market Value of share is responsible for

(A) The Govt. (B) Therespective companies
g_q}( Stock exchange (D) The investment market
(319) & AN qfq & form I R |

(A) §&N B) s (C) =is s (D) Pawamw
The Deferred share are generally usued to

(A) 'Govt. ‘-0 (B) General Public
(C) Promoters ) Managmg agents

(A) TR (B) amm (C) m (D) ¥ TR

A e ) o
S Q.Y
%Q%WWWWW%Maﬁa(ﬁ)Wmm?mmh
@) @@ @) & (C) B3

g Business goals.




14.

15.

16.

17.

18.

19.

20.

FICCI was founded in

C ve
(q:;’"??ffm (FICCh chmar 4 Ag | 930

> (B) 191¢ (C) 1929 (D) 1
The term “Marketing A
(A) Philip Kotlc:InE Myopia» was COiréed tgerry Ford
gC ) Theodore Levitt :D)) None of these
fepan 1 |

g e

T 92 e g
(A) frfera sieen (B) Bﬁ:ié,h”'ﬁ offireR g (D)

Management by Exception” is 1o improve

(B) StrategicC management

(A) Control over personnel
(C) Steady flow of informat; ‘ '
) D ti p) High morale
wEEATEE gun%n?;; ﬁ*ﬂ% |) ‘
(A) e 9 (B) T qEad i
(C) g1 1 Frafad e (D) 3= A
0, Four

Hire Purchase Price of the asset is ¥ 50,000, Down payment I 10,00

annual installments at the end of each year

: 7 10,000. What will be the cash
price of Asset ?
Fqfey &1 3rashd e I 50,000 2, T3 MW= 2 1o,ooo,maéasaiaﬁz 10,000
¥ 9 T feed lﬂqﬁiﬁmaﬁmmﬁﬁrﬁ ?
245,459 (C) X 27.000 (D) ¥ 53,557

Zero based budgeting was introduced in USA by
B) Jimmy Carter

(A) Ronald Rega
(C) Richard Nix pexa (pyy Abraham Lincoln
mwgﬁﬂ(@ﬂﬂ)ﬁfﬁmw 3 weqd i |
(A) TS A (B) e a (C) feE P (D) 3ER A
A Brand conveys
g) Atributes  (B) Yalues (C) Cultures (D) All of these
s AT E | o
(A) T (B) T (C) wpfa (D) T
Pension is taxable under (B .
(A) Salary ®) Professional income
(C) Iﬁcome from other sour_cc’S ) Capital gain
¥ o MRS L
® - (D)) ‘bﬁ’mmm
(C) gl d 3 o

Code No. : C-773/2022/Series-A

_o«_-—‘"

e — —




21.

22.

23,

24.

28.

26.

27.

Contingent goods belong to Goods,
(A) Existing (B) Contingent (C) Normal
HfE~I= TEH HTS &1 W Al

(A) FdIH (B) e (C) s o

What does price flooring mean 7

(A) Shortage (B) Surpluses (C) E uilibrium (D) N
"ITE I : Nt T AR 7 1 m (D) None of these

(A) J@Edm  (B) wfn ©) Haer (D) ¥ 3w

(D) Future

(D) rmd

Chunk sampling is
(A) Quota sampling (B) Judgement sampl;
. . pling

(C) Convenience sampling ) Cluster samplj

5 % mpling

(A) Fram e wfteram (B) ¥oow shrea

(C) gfown wfeream (D) =5 wiram

Stocks which has lower book for market ratio are considered as

(A) optimistic (B) more risky (C) pessimistic (D) less risky
SR 31 & fore Fom =i ) ol P 2 T e R |
(A) SEEQ - (B) s e () ProwmE (D)

Re-order point tells.

(A) What to order (B) How much to order

(C) When the order will reach (D) All of these

TR ﬁ'—gtmfpi»

(A) T dmari g

(C) ﬂ‘na'nﬁa!gm

Internet workj i on

(A) Telex swnteh:ng
(C) Packet switching:




28. Role playing is often used to

(A) Model Behavioyr (B) Change results

(C) Leamn skills (D) Change attitudes

HPH R U ifify o gaam for] e € |

(A) S W) o e

(C) TR e (p) R S F o
29. The characteristics of Human Resources arc in nature.

(A) Homogeneous (B) Heterogeneous

(C) DUCtlllg (D) None of these

TG ETYA & TH Yy o %

(A) GEEd (B) fywmR  (C) =l (D) T & B
30. Which is considered as strategic activity ?

g::){ ﬁF';'?‘o;i‘?:;%tivily (B) Recruitment %(C) Planning (D) All of these

31 nafafy s s e 7

(A) JEHAT  (B) W (C) IARH (D) &t
31. The fundamental objective of every organisation is

(A) Survival (B) Achieving Targets

(C) Profit - N (D) Compete in competition

TS G113 1 A |

(A) e (B) &Y W AT

(C) HATHI (D) wfefren & s &=
32. Total Quality Management's major emphasis is on

(A) Product Quality (B) Company Profitability

(C) Customer Delight g[T))GﬁTE'?:'naglgyee Training

S T e g |

(A) m'ﬂuﬁ"'ﬂ (B) ot &mwem

(C) T A= (D) et wirgror

. cess.

33. R itlneﬂt is a-——_’____ pI‘O(,LS N

(A) Negative (B) Neutral (C) Positive (D) None of these

T T wfFa 2 | .

3) dcEdd
(A) TR (B) ) WERI® (D) T &
1 )
34, Which is a binary number °
y_ el a1 27
mﬂwﬁ @) 10 (C) 29
(A) 12 - J-J:rf“\\‘______‘ (D) 36




3s.

36.

37.

38.

39.

40.

41.

(‘\Xhich is. r.elated to evaluation ’ (B) Job requirement
) Position (D) All of these
(C) Job ranking
Y A A R (€) smagmn (D) FWwaA

in
Empl o rengthens !
(A)P }?}TZ .‘:;:ictoumablhty S B) HR Training
(C) Succession planning (D) HR Functions
CAC e

T e P A _
(A) S FaIE sineT (B) W wame e
(C) I g (D) W Fe S

In India Private Sector entered into the Life Insurance Business in the year
MR i St S saan & s 8 &1 999 T 4 33T |
(A) 1995 (B) 2000 (C) 1999 (D) 1991

Price earning ratio is 83.33% and EPS is ¥30. The Market Price of equity
share will be

Shima-mfte e 83.33% 2, $ftem ¥ 30 R 3ot St it S FHiwa gf
(A) T3333  (B) 26667 . (C) 220 (D) %25

If super profit 1s ¥ 4,000.and normal rate of return is 8%. The amount of
Goodwill will be

afg arfaem % 4,000 20K W=y yiwe <t 8% ? | Tl Tfin 2t

(A) 50,000 (B) 40,000 (C) ¥32,000 (D) ¥ 5,000
Accounting for intangible assets are related to
Srahicai b saba o S ¢ 31

(A) AS-10 (B) AS-12 () AS-24 (D) AS-26

Given : Realisation value of geqey; 7 70,000: Profiton realisation ¥ 3,000.
Book value of Assets willbe T Y

: (aA)? 73,000 (B) 70,000 (C) %67,000. (D) None of these

for 7 & - WY 1 TR v g 79,000 | TR TEW R 3,000 2 | T
- T I AT
(A) T73000  (B) 70000 (c) 267,000 (D) TP

CodoNo, c TN Serles-d e ——————



42,

19 fafirq o 000, Purchase 3 1 00 ? 2 @ g
T N e 3,00 Z 3,000
SR Ry« 1200 8, P € 110907

(A) T3 £1,100
43.  Naij 00 (B) %4900 © T 3,100 ® o
e altional ip s
(A} s Come in India jg €stimated by Financial [ncome O}
51(131)3 1T};ISS() (D) Planning gommissmn
13 HA T ahetq Zr feran ST l STET
(A) Fh By P (o) wwwd @ T
44. In case of inferior di
.. g0oods the i jasticity of demand 1S ;
(A) Positive (B) Zeml neome e:CS) Negative (D) Infinite
N e 71 I e 3wt <y 17 i 2 .
(A) "_THs (B) =& (C) HHH (D) JEEA
45. A firm’s average total cost is ¥ 30 at 5 units of output and ¥ 32 at 6 units of
output. The marginal cost of producing 6® unit is
S FHTS H1 I HWA W G HY 3ea g o 2 30 § 3l 6 61§ QA W
T 32 % | 31 518 Ienfea e b wfiwia wma &
(A) 2 (B) 12 C) T32 (D) T 42
46. puring a period of rising prices, which inventory pricing method will result
in lower total current assets ?
(A) FIFO (B) Average Method
(C) HIFO £ 3 (D) LIFO
Tt dd! il HIeTaty J, AR AT 6 P o
e a6 7 Tt =1 whom foreren
(A) THATETH A (I?) ‘ailaa fafr (C) w=amdupan (D) TEmSTwmah
ick ratio 2.5 : 1 and quick assets ¥ 30,0qq :
1. Sk 2 S 00 vt o
o it i 2.5 ¢ 1 R (;30,0003,31’@%!1%@%%
Py B) 12,000 ) 45, ?
(A) 75,000 (B) 1 ot 000 (p) 218,000
. development 01 people ?
How will you measure
i P (B) HRI SN (D)
it~ — ? "~ Code Mg
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49.

50.

S1.

52.

53.

If profits are 25% of selling pric®, what is the percentage of profit to cogt 9

af o s P 1 25% R, T R T 1 e R 2 2
(A) 33%% (B) 20% (C) 25% (D) 35%

When opening stock is ¥ 50,000, closing stock is ¥ 60,000 and the cost of
goods sold is ¥ 2,20,000. The stock turnover ratio s —

(A) 4times  (B) 2tmes  (C) 3tmes (D) Stimes
w18 I i T 50,000 B, AR RIF 2 60,000 2 3t s v o e
¥ T 2,20,000 B | Vi 3TEd AT @ -

(A) 47m (B) 27om (C) 37um (D) 57om
AS-2 deals with

(A) Depreciation (B) Construction contract
(C) Cash flow statements (D) Inventories

AS-2 A TERE @ |

(A) Jeas™ (B) fomfur 3am

(C) g waTg faam (D) wrergeh

X consigned to Y, 2000 chairs at a Proforma invoice of ¥ 150 each, which
was 25% above cost price. Calculate cost.

X Y %1 2000 FRFaT 50 T 150 H Fevat g W AH, Jt oE 5w @
25% St emre o R
(A) T2,25000 (B) ¥2,00,000 (C) ¥2,40,000 (D) ¥ 3,00,000

On Dissolution, all assets are transferred to realisation account at

(A) Market value

(B) Book value

(C) Costor market value whichever is less

D) N f thes | ]
kgl N et s e s 2
(A) IO (B) WFI

(C) ¥ YN SRR W e d (D) TR

Trial Balance is prepared




SS.

S6.

57.

58.

59.

61.-

(A)

-'-'mefMai!agd
. 24 (&4

Aa) B8 T

Curre_nt ratio is
working capital.

te
375, ACld TeSt ratio ig 125’ StoCk 4 3,75,000 Calcula

%ﬁ 375 %, ¥R frufm 3T 1.253,@@:3,75,000% | e ot

SuIc|
(A) 3,00,000

Share allotment .
account
(A) Nominal A/c. S a

g Real Alc,
SUCTERCIGIR G S
(A) A EE @&
(C) arafas @mn

B

(B) ¥4,00,000

©) 141250 O 7 4,25,000

B) Personal A/C.
%D)) Impersonal Alc.

Deduction from Annual Value is allowed under which section of Income Tax

Act ?

(A) Sec.24 (B) Sec. 25

AR Afafram i 1 @ g F iwia afs @ A

(A) 9101 24 (B) W25

GATT was mainly concerned with
(A) Trade of chemicals
%g) Trade of services
(GATT) =1 994 &4d:
(A) TEEH & SR
(C) BFT=AT & AR

Who will appoint ombudsman ?
(A) MCA

&2 hararer 1 g e 7
(A) qm:ﬁt' (B) i T

Market operations is a part of

Income Policy

(© Labour Policy

( ing Directors hold the
ME T (B)  equity

(B) s

e

|

(C)
mém?gl
( Wﬂ:ﬂﬁ%m
— (D) Py

(C) Sec. 26 (D) Sec.27

FR TR AR R ?

(C) Wm26 (D) WRI27

(B) Trade of Goods
(D) All of these

(B) W % SR
(D) T®a

(D) GOVCmment

(©) Wé"ﬁaﬂi D) wer

(B) Fiscal Policy
(D) Credit Po
F R

o T
g (p) e O IR 0) e e

licy

shares: of the com any
ualificatipp (D) pl';-ference

——

COde N_-""'——--.

o : C-173200 5 rica A



62.

63.

65.

66.

67.

Who coined the concept of Management Accounting ?

(B) James H. Bliss
(é) ?-g:;%“mony (D) American Marketing Associatiop
(€) ] Batty £ dered 1 I TR-Ta1 fhmd ) 9
?:‘j'am:z &, e (B) w1 w=. ferm
© %% ) .

The Budget was formally introduced in India in which year ?

i R A F @ ¥ o YRa § T Teqd R o
(A) 1860 (B) 1947 (C) 1950

(D) 1868
Flexible budget is that budget which presents at various levels of
Business activity.
(A) Costs (B) Revenues (C) P.roﬁts (D) All of these
RIS T2 98 797 & W) AR % Rifvy @ w Td FAT R |
(A) <mm (B) Tvra (C) & (D) T®EH

Determine P/V ratio if sales is ¥ 80,000 and variable cost is ¥ 60,000.
afe Rt 780,000 i whadrstier s ¥ 60,000 R, &t /it 37 3 5t -

(A) 40% (B) 25v% (©) 50% (D) 35%
Which is considereq as Bottom line in income statement ?

(A) Total assets (B) Net profit

(C) Total liabilities (D) Gross Profit

ST 101 5 e St P T R 2

(A) Tawafe gy 3

(&) B W @), ey © = (D) s
63. gﬁ'l‘ie"‘km PR 3% and bond yield is 10.2% then cost of common stock

s R A 3% § 3 st R 10,294 e s et

(A)340% B 12%  (¢) 30609 (D) 13.30%
Code Noys C-T73/2022/Series-A B i



69.

70.

71.

72.

73.

74.

Cost of labour is an item of rect Expeﬂses

(A) Idle Time ) DI ¢ thes
(C) Overhead D) None © |
5 ) AT FTFHTER | as @ i A
(A) AFfFawm@  (B) YIH @d (O ,

g cost, it results 1

When actual cost is less than predeteﬁnéne AbnOMal loss

(A) Normal loss (D) Nore of the 3
C) Ab | gai

O g ST 4
(A) am e (B) ST e (C) T

The stock turnover indicates

(A)c SSlow moving stock (B) Debtor th;l::ece .
(C) Sales Movement (D) None o &
i HEd s 2 | i :

(A) g T wiF (B) il

(c) ek @ (D) ¥HE

i f Credit Control Procedure is inc’licatcd by ‘

T:e elgglillf)??,u(r)novr:r ratio (B) C.redntors Turnover ratio
(C; Bad Debts t0 sale ratio (D) Fixed Assets Turnover ratio
S frgor fafty 1 &8 8 p TS

(a) T T T O e e 31 3

(Cy g & o I FTI

. : hniques are used to Environment analysi

\x?mg ‘;)/8;@ following tec Eg; Correlation ysis ?

( , : lysis All of these .
M%gaw QA 1 T ot 1 v g 9
&) T e (D) Twwsh

(©) wr il reco

RoY al ('ommission on Labour mmended appointment of Labo
' 7 e Ahm i
ehicerin . cmaad__—— % P
guaa;ﬂﬂﬁ A F‘Tﬂ) 1920 (C) 1945 (D)‘ﬂl;’mna |
(a) 193! , 0
: . (jo 18 equal téﬁaﬂ&'{ﬁ |




76. Cost of capital is not similar to which one of the following 2

(B) Target rate
(é) flltlltrc(l)lf::tt: (D) lntegmal rate of return
‘(i?'g' i v feferia 3 & e T TR 7
e (B) @&
(C) ST () N

. 100 preference shares redeemable ata premium of 10% with
i }1(5 ;;gr :lr?:mrity.pThe coupon rate 12%. Floatation cost s 5%. Sale Price g
% 95. Calculate the cost of preference share.
15 7§ - fafr w 10% SAfEH R AR 100 It s x Ltd. Fumm §
TR 12% B | i o 5% @ | fosra i 2 952 | 6 R ) o )
TR iR |
(A) 1333 (B) 16 () 15 (D) 20.15

78.  Liquidity value of security is calculated when the compan
(A) Starts its Business (B) Sells its shares
(C) Liquidates

Ff wfogfer % 2 Alil%(gr;hese R
EL LC TN e 1 frame s s |
(A) 9 SR Y3170 Feet (B) 319 I ) sk et 2
(C) WmTe Feeft 2

(D) @@=t
If Mode and Mean

iean of a series are. 13 and 10 respectively, its median will be
oy o T AT, 13 e 108, S v

®) 11 ©) 12 D) 13

79.

80. Algebric sum of:

e ﬁiﬂﬂm;ﬂmmmw (C) Zero (D) Minimum

d V.'"(B)?“"“'* o w (D) =

81. F /l:)m (Szna:arﬁl)n;sm(;l:'m&relgnored while calculating :

(©) Qs Dgi;ﬁon, ,, ((g)) g
oL TR i o SN
*) Wm B) Wy (C) Tgdw R (D) FHATAT
82, “Dispersion i§ & measure of

®f Variation ofitems” who saidit?
() Sg;gﬁeia - ‘@,Re‘ 011::: ' ?f:l)w%znnqro (D) Bowley




83. Bivariate correlation is a

: l ,
(A) Partial correlation 0 known as rrelation

3 m ]e co )
) Mu_lt'lpl;_r;:orrelation gé zlon?sense correlation
qEHEY i _ [t s | FgaEy
() i) e (€ e et
) x};eg(‘;gs zero, the regression lines cut each other making tl;e ;Inognz of these
(B) 60° C) 90° iig)
VYA R, mmm@%’mm@ aﬁa:ﬁ?ggﬁlgﬁ
(A) 30° (B) 60° (C) 900 (D) sqﬁ .
85. Theoretically, the best average in the construction of index number 18
(A) Median (B) Arithmetic Mean
(C) Mode . . (D) Geometric Mean
ga&i & fafu §, g s d aftwad |
(A) Wfem (B) wwimAE  (C) WS (D) AT AT

86. HM can be computed from a series in which there are negative values. For
example, the HM of the value -5 and -10 will be
Boret Aot 3 o T § F & TewH SHftwer foedn o1 e & | ITTET
frq, gfETT -5 3 —10 =1 TITH B
(A) —6.67 (B) 2.16 (C) 3.00 (D) —5.58

87. The Mode and Mean ar€ 26.6 and 28.1 respectively in a moderately skewed
distribution. Find out Median.

et IO TS @A § IS ST ATEA FA: 26.6 3 28.1 § | wfeywr A L |
88. The Mean of 100 item is 80. By mistake one item is misread as 92 instead of

9. Find the correct mean
%m.ﬂzﬁrmwso%ma'cﬂﬂqaauaaﬁzﬁmgzw,m'mmmﬁ
(A) 90 (B) 79 (C) 60.37 D) 7937 |

. 2 -3
g9. Findthe value of determinant [4 4 ] %

R 2 ”ﬂa;rgarﬂqﬂ'lamﬁl
T [4\/ 4] (B) 10 (©) 20
(A) 0 2 (D) 30
. tion flx) = L—'—_—"Zis discontinuous at
90. The funct €) x=1
; (D) None of thege
qr A & | ese
i C) x=1
LDHS N
ries- o



91.

92.

93.

94.

95.

96.

97.

98.

Given the demand function : 4 = 100 — 2p — 2p?, the elasticity of demang
a

p=10is

(A) 3.5 (B) 4.5 ©) 5 (D) None of theg,
ﬁmm%qﬁmwIOO—ZP*ZPZ,FIO‘WﬁTﬁFﬁa_ ]
(A) 3.5 (B) 4.5 ©) 5 (D) 38 8 Y 7

169 due in 2 years at 4% compound interest is

The present worth of ¥
oA 29 & 38 T 169 1 A 64 2

2 o & 4% THgIG
@) 715625 (C) ¥15725 (D) ?158.25

(A) T155.25
ock market is referred as

The Stock market index of London st
(C) Footsie (D) NIFTY

(A) Brent (B) Sensex _
i ﬁmm%ﬁmmr@mmﬁmﬁr@m%?

ded
(B) @HHN (C) T (D) P

(A) o=
In which year did the Indian Stock Market Index, the SENSEX, crossed the

5,000 point mark for the first time ?
ﬁaamhﬁsmﬂwmmqsﬁiﬁﬁwmmoomwm#ﬁ
i dur frar e ? eiipcFa b 2T -

(a) 1993 __(B) 1999 < () 1991 (D) 1996
SENSEX is the stock exchange based on which-country ? |

(A) India_{ +.(B) ‘Pakistan = _(C) Japan- ~ - (D) 'Mysnmar
HoFe FH (B AN ISR R AARAR? o D) -
(A) Y@ | . (B) Wfewm o (C) SR < (D) MR

Which constitiitional amendm ent has;beend 10 P ” GST Bill ?
@ sy @) S O 420% "D 101
® pat (© 120t (@ 101

A) omonth  (B) Sodue s re gl 255 &
KT?WWWW«%%’WMQ i W A
W @) ofw . (¢ 180Rw (D) 365f

Due date j;:ﬁlin of
B) 31 July é%:l“Augmt (D) 30% November

kg gk,
VRW, @ sigm  (© e (©) 0T

e pads

- l‘



(C) [’residem of India
A ’
o e ﬂmmmﬁamw%

(C) Wa % ety
(D) W*W :’ﬁ

100. Sal . |
(A)ar: rece!\ ed by lhc Manager of an 8gricullllfal f@ Ilsne
J N agricultural income (B) asalary inco
% d busmeSS income (D) a capilal income
A ‘ ' p) T
comes ”

101. Which Section of the Income Tax Act deals with €x¢mP s Section
(A) Section2  (B) Section7 (C) Section 10 )
HrEER fufian  #4 d am ge aIw s @ gatd 8 7

0
(A) ®m2 (B) ©WI7 c aio O 8
: ; ?
102. Children Education allowance is exempled for how many child/children
(A) One (B) Two (C) Three (D) Four
a1 R v Y we oo a1 /AT & fg e & 7
(A) & (B) @ (C) @H (D) ¥R

103. By whom from tl;_e‘_fol,lowing, auditor can be reappointed ?
BY irectors  (B) Share holders(C) Central Govt.(D) All of these

%ﬁmﬁammmaﬁmama?
ST

(A) frea (B)
104. Which of the following organisation makes “Doing Business report” every
year ? |
WTO (B) Wnrlg Bank“ (C) UNCTAD" (D) IMF
%@aiaaﬂmwmaﬂ <51 e RO &R+t g 7
o) e @ i (O TS (D) e
1 e ' : ‘ lsa (B) Middle level function
(4) Lows L i (D) All of these

' (€) Top leel ﬁéﬂbﬂm

AT (| e\ (O) FTEFE (D) TRah

: ﬁqmiﬂ'ﬁ (B) m e N S
(A) o 7 Code No. ; c-'nz./zoz‘zggi;_z
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CAY L Vi (Y esnry Hyd
%FW Tiyter mpihmi Iﬂmm
F]mmmnﬂ. |

(A) e S lH-i Evin L) R e D) =T gl
The ippintuning ot kg, 1oy 8 detnmimed

Y
EAY the infation mip () e loved af g e Tabe gl
(3 e Enterest yugre (L} lhcmmunl gt e
B (s ) S g EEn T e .
{A) o e e | VNG L LR T
!_l:"l =T 5 (D) "R 4 :
X penidlitiane snaurnied 1y o Pobdiduir for soideiaij cojryrdght s
(AL [ apvial r|q|:-n.j|:1;:= TB1 - Tewrree ey peyiiliters
{3 Pretfarred revenie eyindioer (2D Hmuumu
PO %hhﬂﬂﬂ-'ﬂﬂ'ﬁm*‘mmﬂmu_t'
(A) = R o R
(67 SEh T g ) A w
Power 1o L olficel ﬂal..r“.mpﬂ enttithe Indla by bt e nithoelved by
Iﬁ.‘} Asricies of Aduiccig2hin : ['I.;.} Memmadum o Aneosit b
(L5 Bh' (A& HY (D) Cenizal Cidve,
TR W e s iy anr G SRS A Wit ®
s =l )

(A) B B Y dmrEmt (O) SR (B () SR AR
‘How 1 Profit Hmmimpmﬂm trestod

A E:Tnmm (B W

Ty
Sy i!:n?ﬂ St |
(A) = By o frad
'menfnﬂnﬂﬂmghuwu:ﬂmmwﬁumHMﬂMiM'ﬁd

o e it |

Bmess oo
% hwﬂmiﬂm&hﬁnﬁ 0w
(8 L T R T L R



112. The '
common accounting software used for recording transaction and report i

) =RE (B) Tal (D) SWAP
ly (C) EX :
(A) 33T (B) ¥ (©) 70 (D) TS
113. Public warehouses are bv customs department:
(?:fql?)-'. controlled (B) m\eg (C)S 1|cinse i . I(D) not licensed
& (D) ¥ T

(A) Ferfm (B) sgifta  (C) @M

114. The MRTP Act 1969 was abolished in which year ? )
®H ° T4 °§ manddt srfufram, 1969513:@1%@% S—
(A) 1991 (B) 2002 (C) 2006 (D)

115. Which of the following is not a Real Account ?

(A) Cash A/c. (B) Building A/c.
(C) P& MA/. (D) Prepare Rent A/c. E"k
Frofrfias § | #4991 T e G T 8 ?
(A) Tehe @rdl (B) W& @Il

(D) & fertran @

(C) dt 3fit T3 @A

116. Netassets— Capltal_’geserve is

(A) Purchase Consideration (B) Goodwill

(D) Total Assets

(C) Liabilities |
g vt - - ot s
(A) e (B) =0 (C) Tl (D) P wmfat
117. Planning is process. |
(A) Goal oriented (B) Flexible
(C) Time Bound o (D) All of these
Lo wfiFar e |

() weIHE (B) i (C) ¥@EE (D) 78 mft

118. Test checking is done where there is an ¢ ffective system of
(B) Internal Audit

(é) WC"“”‘ (D) Internal Check
() Material sl st et 5T 79 1 g
(A)‘iﬁi%’ﬁaaw (B) . 3Tt a1 Thharm
(C) wwaft | ®) Waﬁ
E 19 CodeNo. i COm0mmm—

eries_A



11 :
9. Under Hire Purchase System, the agreement can be anytime.
(A) renewed (B) terminated (C) registered (D) endorsed
R wie qumeht & sita, A e Renwawal

(A) diFa (B) ®HTA (C) TSI (D) et

120. A company can issue share at a discount under which section of the
Companies Act, 1956 ?

TR i, 1956 1 A W U F Ferld FERH TZI-3N (IW) 0w
gHar e ?

(A) 52 (B) 58 (C) 77 (D) 79
121. Which was the God of animal during the later Vedic Period ?
(A) Indra (B) Rudra ) (C) Vishnu (D) Prajapati
yrAadl A F1et F 0 TYHT & WA HH Y ?
(A) T3 (B) ¥ (C) fomy (D) Seafd
122. Who was the first king to have the image of Lord Buddha inscribed on his
coins ?
(A) Ashoka (B) Kanishka
(C) Dharmpala (D) Harshavardhana

3T Rl T Y g ) Tl 7eha FEM ATt FEwYH TN HH Y 7
(A) ¥ (B) ®f=s.  (C) wdue RS ELE

123. ‘Who were the contemporaries of kings of the Gupta empire ?

/(A) Satavahanas (B) Rashtrakutas
(C) Vakatakas (D) Cholas
T WIS & T3 & GUHEH B S 7

(A) SERE (B) UNER (C) TATHRH (D) |
124. Moliammad bin Tughlaq changed his capital from Delhi to Deogiri because
he wanted to -
(A) Improve trade in the Deccan | \(B) Spread Islam in the Deccan
(C) Punish the people of Delhi (D) Escape from the Mongol invasion
e Rt s 3 A e Rt 2 RN ¥ o foen i g e o
A) TR TEEEHTR  (B) T T S
© Retdemiimendn = (@O #WwEgQIET
Code No. : C-773/2022/Series-A —20 T




125. The tw emr!
A WO great Mughal rulers who Wrote their 07 g and AKDE!
(A) Babar ang Humayun (B) HumdY o ese
é}c) Babar and Jahanéir (D) NO"%ofm %
HE™ - 3
A W}mm‘ﬁ‘%'mga mﬁmﬁg)%g;ﬁg?
(C) e 3R Frifr (D) @AY toundertﬂke
‘ ers ',
126. :: )1 91 7‘5.at Champaran, the government I“orcﬁ‘ljl fﬂultivanon
’ Indigo cultivation (B) hall0™, in l
(C) opium cultivation (D) land ce;lﬁ'%qmwm
1917 9, Soqmor 8§, geen 3 fami &t f;n
(A) 3Fem @ (B) &N
(C) 3hm @ (D) {HAT
127. The Constituent Assembly was created by . ission Plan
(A) Shimla conference, 1945 (B) Ca.bme;v[hfssion
(C) Indian Independence Act (D) Cripp®
gy Ewm®sl | R EAE T 'mmﬂ‘ﬁﬂ
A) fmmen awrem, 1945 (B)
(A) (D) for T

(C) WG e Afufram .
ia i ' : i gove
1tuti d designed to work as @ unitary
12 (T:;: (1:1(1) ﬁit:;l;llot?nis[n “r = (B) in timesf (t);' emergency
' ' desires (D) None of thes€
(C) when the Parliament SO i mﬁﬂ%&;g&ﬂﬁmm?
Ffym e Uk IEA o1
q:—a :Tm q (B) MM |
EC)) e TEe TET =R (D) FHAFETE
) Legislature can declare a seat vacant if a membe
129 Parhamip;]:; fa w?ttl?([)in pegrmission from the sessions for
absents hi (B) 60 days (g f:I%%days ;g?ggl j.g days
e aTedl fyer T fordt Hi2 Hifta & fim
agmm%;m?m ' ¥ ferq 1A @At | i
(B) 60 f (C) 90f D) 1205

e Principles of State Policy” has been tgyep from

‘DirectiV
130, The concept o DRET (©) Capace oa (D) UsA
m‘@‘ ~ g s (© (D) Iz
(A) T Code No.. :’E?ﬁs,?@\;:
A




131.

132.

133.

134.

135.

136.

Which Constitutional amendment has established Panchayati Raj Institution 7
(A) 73" Amendment Act (B) 74‘: Amendment Act

(C) 92" Amendment Act (D) 93" Amendment Act

B} TRy Hiee 3 G T g 1 et R R 7

(A) 733 weiem ol (B) 743 waie feram

(C) 924 Humy= nfufam (D) 933 wwnvm rfufam

The size of the earth was first measured by

(A) Isaac Newton (B) Galileo
(C) Copernicus (D) Eratosthenes

geeft % TR I FATYH FARRIRCICIE
(A) E A (B) ARl (C) ®wE (D) S

The longest circle which can be drawn on the earth’s surface passes through

(A) Equator (B) Tropic of Cancer
(C) Arctic circle (D) Tropic of Capricorn
Ted ) HE W S F g A A A EFALAT H AR |

(A) YFER@  (B) & @I (C) FrHR®ada (D) (D) TSR @I

The Australian time is ahead of IST by
(A) 2 hours (B) 3 hours (C) 4 hours (D) 5 hours

ARfF T ST amaR |
(A) 290 ®) 3=t (©) 49 (D) 5u&

The Jet Stream is found in the
%Z) TmPWth (g) Siratosphere (C) ‘Mesosphére (D) Hydrosphere

(A)WGET (B)mmm (C)mzma (D) Vs

Thegl'eateﬂknownoceandepthgs

1. (A) 8,890m (B) 9,653 m (C) 10589m D) 11,033m
@ TeRTd

(A) 850 ¥l (B) 9,653 fix (C) 1o,ss9rnzr (D) 11,033 A

137. Dunoan Pass is between

(A) India and Sri Lanka

(B) South Andaman and Little Andaman

(C), North and South Andaman. T
ST a

(A) WRA R ®) T @ sy

© SR (D) R i

Code No. : C-773/2022/Serles-A 22



138.

139.

140.

141.

Rocket works on the principle of
(A) Conservation of mass

(servatio? of ener®>
(B) Co™* c pese

(C) Conservation of momentum (D) Non€®

_ S w e smamd | . m
(A) Fefa-sem (B) ﬂf‘mﬁ Eﬁﬁ
(C) W Ham-wramw (D) gﬁﬁﬁ
Saliva contains which enzyme ? Lipas®
(A) Pepsin (B) ﬁnum (C) Ptyalin D)
TR H S 1 TAEH BT R ? ) e
(A) ¥R (B) m ) zafm (O
The amount of light entering the eye is regulated by
(A) Cornea (B) Pupil (C) Iris D) Sehlera
i@ 4 Y49 Fd T ) 7= o Prifa g 8 |
(A) i (B) et (C) ¥maf@ (D) ¥

Chemical used to preserve food material is

(A) Caustic soda
(C) Sodium chloride

(B) Sodium benzoate
(D) Sodium bi-carbonate

T g afEE & 59 WA 1 I R S |

(A) FIEH AL (B) ®iftaw 3=z
(C) Hifeaw F=ATgS (D) \Tm TE-FERe
142. Which (hstnct of H.P. does not fall in the Humid sub temperate zone ?
}A) Kullu (B) Una (C) Shimla (D) Kap
T R 1 1 a1 Fren 3T, 3uven wfeay § ¢ o g o gra
(A) T (B) 3 () ©) ey
143. “Tons’ is a tributary of which river in H.P. ?
A) Yamuna  (B) Satlej (C) Ganga
%«mﬁ'm'mmﬁmma? (D) Begg
(A) 98T (B) @aes (C) "m ©) =g
144. Dlsu‘l(;t—Bllaspur in H.P. is located on the
(A) East bank of the Satlej (B) West Bank of
%uﬁanam Fremagt_. o e 2 | c
(A) e & e Rk (B) ¥ 3 gy
© W@ D) WAy PR



145, Which is not a valley in Kinnaur district ?
(A) Pejur (B) Mulgoon  (C) Wangtoo (D) Podar
HH i fapeiie forst 1 o1 & 7 | _‘
(A) U3 (B) AT (C) artg (D) T
146. Lakkar Shah. a famous Brahmin, was in the service of Chamba princely stay,
during the period of .
(A) Zorawar Singh (B) S‘“Ch‘:t S'"gh
(C) Sri Singh (D) Gulab Singh .
HFhS T8 wmwﬂmi_ﬁmmnmm rrmﬁamyu,
147. Raja Bidhi Chand of Kangrd kept which son of his as hostages in Delh
Darbar in 1385 AD? ‘ ‘
(A) Prayag Chand (B) Trilok Chand
(C) Ram Chand (D) Syvira ( hand o
1585 Faet 3 wingr & e foreft =i 3 F @ O H oot TR H TYF F =Y
FrEr o ? _ _ _
(A) mmag  (B) BEmwwEg () TS (D) gfe=g
148, Who founded ‘Theog’ in around 1667 AD ”
(A) Gobardhan Singh (B) Narinder Singh
(C) Jai Chand o ) Tara Chand
1667 $aeft & Fmaara Rewr ﬁm%ﬁﬁ 7
(A) Tedafie  B) WaRE (C) WI (D) AW <
149. Which woman was not an Indian National Congress volunteer from Shimla ?
(A) Lakshmi Verma (B) Kamla Devi
(C) Sarla Sharma (D) Lajja Verma
i Tt wfen Rrren @ sl Ui whig ) wwdes @ o 2
(A) wgftamt  (B) wHened (C) WWenwmi (D) o= awl
150. ggl;l; ruler did not attend the ‘Shimla Hill Statcs Conference” in Shimla in
(A) Mandi (B) Bilaspur (C) Bushahr
‘ ¢ (D) Bhagal
1939:gmmﬁm‘ﬂrm Waﬁm'ﬁaﬁ%mwfﬂmg%a?
(4) B) femR (O Tw (D) W
151. x .
7
o ® 201 © 2014 (D) 2015

Code No, : {C-773/2022/Series-A % - -



152. Dhe ; ir is ; ; :
amu Shah fair is held in which district of H.P- ? (D) Kangr?

A) Una (B) Ch
S 3 B) Chamba ~ (C) Solaf
' ) Il (C) @
. . 1a ?
153. Army Heritage Museum is located at which plac€ in Shlmg)' Kaithu
(‘3;1)1? Annandale (B) Jakhu (C) Sangti (
R mfn fimen f e wm wfRad? ) ¥
(A) A=A (B) g (C) el (
154. Which European Company introduced tea i valley’
: pany introduced tea in Kangra
(A) Nishan Tea Company (B) Tissot Tea Company
(C) East India Company (D) Palco Ted Company
PR i g Fee Hhrg ard § T @ 2
(A) frem & Feh (B) feEEd o ﬁ
(C) ¥ sfEan worfi (D) R & F

155. In which year HRTC started its own courier service ©
+4 @ 99 § Tt | Mﬁiﬁgﬁ‘mﬁmmmﬁm ?
(A) 2000 (B) 2005 (C) 2010 (D) 2015

156. Which place in H.P. is famous as the *Scotland of India’ ? _
(A) Rewalsar  (B) Kangra (C) Dharamshala (D) Dalhousie
‘YT & TRITAS %aﬁtwﬁqﬁamﬁaﬁ:ﬁmmi ?
(A) ETEH (B) Hh@ () whmen (D)

augurated in which city ?

157. ‘Bangabandhu Sambad Kendra' has been recently in
(D) Guwahati

(A) Kolkata B) Chennai (C) Shillon

71 B 1§ F17 / AR g WG &5 1 IgUIEA TR 7
(A) ®E@mE (B) o () e (D) TETRI

158. Double Asteroid Redirection Test (DART) mission is associated with which

country ?

(A) India (B) USA C) China (D) Israel

mm@%ﬁ(ﬁnﬂ)%mﬁﬁ&mﬁmg ?srae

(A) WA (B) 3 W.L (C) (D) T

189. Which State/UT Government has recently launched 'S ik Mitra' scheme
for construction workers ? nramik Mitre' sfieang
A) Maharashtra (B)_ Gujarat _(C) Delhi '
N e 5 e, 1 ) 8 73 _ (D) Uttarakhand
I € S \ ’ qy - ¢ *
T _mmﬁm R 7 R T 3 e
Wy B FE (O R (D) s

e —— A qa—
e



160. ‘KN" i ‘T in the s ay as ‘DG’ is related to
- 1S related to *QT 10 - Same way as LU IS 1 :
KN #gay - ad@ @ 8 dm fs DG Fdaur 3
(A) IN B) M (€) M (D) IN
’ —

161. Which letter is 4™ to the right of seventh lctter from the right ?
T R S e 5 g B S AR TR 7
(A) W (B) X (€) C (D) D

162. In a certain code BOARD is written as 51324 and SIDE is WTIt
How is BASE written in that code ?

ferelt fafeaa e 3 BOARDﬁ[S.l@%%mﬁ%@m%&ﬁ'{SIDEﬁ%.n

len as 964>

fovam s R | 3¢t %2 © BASE 34 forgr s 2 2
(A) (50r B) 5937 (C) 5697 (D) 5297
163. Antonym of ‘Autonomy’ is
(A) Submissiveness (B) Dependence
(C) Subordination (D) Slavery
164. One word substitution for “To talk without respect of something sacred or
holy’ is

(A) Blasphemy (B) Obscenity (C) Rudeness

165. He . thathe could speak five languages.
(A) challenged (B) boasted (C) submitted (D) suggested

166. Meaning of the idiom ‘To wrangle over an ass's shadow’ s
(A) Toactin afoolish way
(C) To quarrel over trifles
(D) To quarrel over the possession of an ass

(D) Vulgarity

167. ‘e’ o e g

(A) =i (B) 7% (C) wgsiife (D) Tegey
168. ‘' w wfty Rz

@Ww+@w @ medw O @+wm (D) o+
169, TR vt

“Wwtm @ gm (©RR (D) R

© (D) %

-
T — — — —— — —— —
,26




171.

172. The
: famous Kaj
ailashnath tem i y
- Itb o
ple at Kanchi was b Yan 1 % ‘

(A) Narasi
mh
%Mahendm?a},”?;“]" (B) Nandiva™
Pt b ey (D) DantiV
(A) TeRrgras T L
[1(B) Ffall  (C) mF ] @) * oy Y
173. -rhe TOmar Raij Twelﬁh : i
the Chauhans 6,? uts were defeated in the middle of the | '-Of
A o]
(lz.thAYOdhf am éB) Ajmera; (C) Dwarka . m(DN@) mal |
(A) e B) 3 T @ (D) Bl
(B) (C) TR :
174. The Mir Baksh of the Mughal Emperors was the head of i
(A) Finance (B) Intelligenc® . -
(O) Form%x; Affairs (D) Army Organisatio? 2
T GRS o R TEH Fufam ¥ | A ﬂmﬂ‘ﬁ:“
() R (B) == ) fmwE (O T
175. The tomb of Jahangir was built at = (£
(A) Guijarat (B) Delhi (C) Lahoe @) Age

&1 HHaU S Tl |
(A) T (B) feeeht (C) wmR (D) m'?ﬂ

Motilal Nehru and C.R. Das were the founder members of the

(A) Communist Party of India (B) Forward Block
list-Swarajist Party (D) .Swmj)’a?agy

~(C) Socia
:‘mnaramm@ﬁ.m.m & TR T Y |
(A) ﬂT(Eﬁ'ﬂa;a{ﬁTZmﬁ (B) IEE & |
© AT - T (D) @I

National song ‘Vande

176.

Matal'am' has beenwriuen
®)'SC oty
JV1, ban 1
D) $M. Bunre
(B) W, TRreamy
(D) W, T

— —
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184. The:
|magin . .
(A) lsobaralylmcs Which connects the plac fsame € e
mmﬁ (B)\ !S()hyct ((ﬁ)aLCS ganliﬂe (D)
mmm . ISOV HE
(A) augma e foum tarat & _—— aﬂqw
(B) #mawit@  (C) gued@ & D)

185. Rotati
0 ic f b :
(A) Eaf:l: axis of which of the following planet i highly til ster
(B) U &p @) P
Frafafes mi 3 g ranus (C) Neptun®
Ferarent woff o sfa Ta g 7 qﬂﬁ,
(D)

(A)
e (B) 3@ (C)

186. Heli i i ' !
igoland is an archipelago of which of the folloWiP& na(g;nsmdoﬂesia

.

(A) Britain (B) German
y (C) USA
frfefen 3§ @ ¥efiiets fora o &1 foeg 2 7 AR
(A) forea (B) (C) @@L (D)
187. The river Brahmaputra is known as as it enters W;::Lsm N

(A) Dibang (B) Dihang  (C) Subansif (D)
mwaﬁawmﬁmmﬁga@/#mimwﬁ'
(A) feam (B) fe&m ) g O ool

188. What is the nature of monsoon rain from Guwahati to Chwdigﬂfh ?
(B) Crescent or Growing

(A) Irregular natur¢
(C) Diminishing nature (D) Cyclic nature
a9l fa wE h A R 7

TR @ LG AH A '
(A) FHFfE TR (B) TG e FHH FHI
(C) TEAH THI %@ (D) TR
189. Which state has the largest concentration of tea plantation in India ?
(A) Assam Eg; Bihar
(C) Meghalaya _ Arunachal Pradesh
;%iqmmmqgamwmﬁmﬁa?
(A) & (B) faEm ©) ¥ (@ o

190. India mainly exports iron ore to which country ?
(A) Japan (B Bhutan (C) Indonesia (D) Russ
s A @ S H T - ares Fafa e ¢ ussia
AN C .
(A) SAH ,(BLW ©) ¥R ()
de

29




191. Which is not a function of the Central Bank in an economy ?

(A) Dealing with Foreign exchange
(B) Controlling Monetary policy
(C) Controlling Government spending

(D) Acting as a Banker’s bank
foret refeaeen § F1F °1 8o 4% H1 H14 TG 8 ?

(A) faesft qz1 =aER
(B) wfgs Hfif fram
(C) awrl =51 fFAgam
(D) Fw ¥ F&h @ FREAE FAT

192. Fiscal deficit is
(A) Total expenditure - Total reccipts
(B) Revenue expenditure — Revenue receipts

(C) Cabpital expenditire — Capital receipts + Market borrowings

¢ (D) Sum of budget deficit and Government's Market borrowings and
’ Liabilities

frefraar A

(A) FaEH - wmm

(B) TR G ~ ToRs mfert

(©) Tshe - doft st + wrom @ fora 3um

(D) &9 9T, TR g0 /R & fere um qen gt i am

193. Which gland releases sex hormone ”

(A) Adrenal glapd (B) Thyroid gland
©). Plﬂntﬂfygland ‘ (D) Sebaceous gland
W o 3ifts v it e R

@) Wy B) wmteaR () freged s (D) s

194. The vector of disease sleeping sickness is
(A) Sand fiy (B) Housefly (C) Fruitfly (D) Tsetse fly
P sy v w1 e
(A) Remweet B) Wuyaet (C) W oed (D) @ gwe
Code No. : C-773/2022/Serles-A S 7




(C) DUQt
: o hi
(D) Al grlh::s: atmospheric pressure

T3 & Syt -t
(A) Ty pe s7aeen 4, ) ) w1 g e 6%

(B) uwrt :
(©) Tt e o

(D) & T T/ & HRY

Which ar ' "
i —— )
(C) Ultraviolet rays g; ﬂfo :
3w J9UE § FER mmmme"v

fgm (B) Wema@m (O e T @)

197. Which is the constituent of tear gas ?
(B) Ether (C) Aniliné
: (D) W :

196.

(A) ¥
198, Whichisa synthetic polymer ? |
(A) Silk (B) Protein (?8 polystyrene (D) Starch
coc il Q’a"?ﬁm (ﬁlgﬁq) qifeT i (FgTP ? 3
(B) &7 () e () wd
first-ever woman judge of the
ch Country - e
akistan_ §©) Afghanistan (D) Bangladesh |
¥ @l #) gy Afeen AR
(C) FemAEH (D) FIRY

pecame the Prime Minister of which ;
(B) North Macedonia Courtry?
(D) Argentina

2 3q % oA A EHE 7
} x !




